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II Year Commerce Examination, 2018

ACCOUNTANCY AND STATISTICS
Paper-I11
(Cost Accounting)

Time : Three Hours
Maximum Marks : 100

PART - A (@Us-31) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
Tt W SAar ¥ | e T ST e v o S T
it gl % 376 TEE 2
PART - B (@us-9) [Marks : 50

Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.
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PART - C (@u=-®/) . [Marks : 30

Answer any fwo questions (300 words each).
All questions carry equal marks.
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(x) What do you understand by labour efficiency variance?

A7 geraT Fereror | 3 T THE § 2
PART - B

(@us-d)
UNIT - I

(gE-1)

2. "Cost accountancy is complementary to financial accounting
and not a’substitute." Discuss.
TR SRR T SriE o O & A R wferenye | S
i |
OR
( 31ar)
3. THhe particulars are available of receipts and issues of an item
of stores for the month of July, 2017 as follows.
SIS S017 e ¥ for el = fre we 1 Wi SR frie
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July 1 Opening balance 1,000 Tonnes @ Rs. 10 per ton.

July 7 Issue [Req. No. 115] 600 Tonnes

July 10 Receipt [G.R. No. 416] 1,200 Tonnes @ Rs. 11.00
per ton

July 15 Issue [Req. No. 216] 500 Tonnes

July 20 Receipt [G.R. No. 517] 200 Tonnes @ Rs. 12.00 per
Ton

July 27 Issue [Req. No. 317] 800 Tonnes

Material is issued on the basis of 'weighted average method'.

Prepare stores ledger account on the basis of above

particulars.
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UNIT - Il

(Feré-10)

4. Distinguish between normal and abnormal idle time. How
would you deal with each one of them in cost accounts ?
QI A STEH e T S w5 | T
¥ gy § 9 A ol § Ry TR e w1

OR
( 2rerar)
5. What do you understand by absorption of overheads ? Explain

the following methods of absorption of overheads :

(i) Machine hour rate method

(ii) Percentage on direct wages method

Sl % RN | 9 F GHER €7 Sufer % i
F frafafaa fafiel & arEd -

() = =ve R fafy

(i) were e W wiova fafa

2803/9940 6




UNIT - 11
(s=Tg-111 )

6. What is a cost sheet ? Why is it prepared ? Prepare a cost
sheet from imaginary figures,
m~ﬁwﬁm%?a§mﬁmm%?mﬁmm
& SR R TF AT T |

OR

( 3terar)

7. Aroad contractor prakash took a contract for the construction
of a certain road on 1st January, 2016. The contract price was
agreed at Rs. 20,00,000. The contractor had made the
following expenditure during the year.

UF USF 91 9101 3HeR g 3 1 Sa, 2016 1 UF Hew
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Rs.

Materials 1,25,000
Labour 75,000
Plant 2,00,000
Direct expenses 50,000

4,50,000

Following are the informations at the end of the year :

o 3 o o g o

Rs.
Plant at site on 31.12.2016 | 1,50,000
Material at site on 31.12.2016 25,000
Material returned 10,000
Work certified 7,50,000
Cash received ; 7,00,000
Uncertified work 40,000

Prepare contract account and work-in progress A/c.
Sop1 TN | =] T T e |
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UNIT - IV

(3E-1V)
8. Distinguish between integrated and non-integrated system for
cost records ? Also give advantages of each.
ST @ T TH-Uhighd Ue Uhigha Yol W 3= Iagd | Sl
& Y off FaEd | ‘
OR
( 319rar)

9. From the following figures prepare a reconciliation statement:

1 aiehel | Uk WAy foer e s
Rs.
Net profit as per financial records 1,28,000
Net profit as per costing records 1,72,400
Works overheads recovered in costing 13,000
Depreciation charged in financial records 11,200
Administrative overhead recovered in cost 11,700
2803/9940 9 PTO.




Depreciation recovered in costing

Interest received but not included in costing
Obsolescence loss charged in financial records
Income-Tax provided in financial books

Bank interest credited in financial books

Store adjustment credited in financial books
Depreciation of stock charged in financial boks
Factory expenses charged in financial books

Administrative expenses charged in financial books
UNIT - V

(3FE-V)

12,500

6,000

5,700

40,300

700

900

6.000

16,000

10,000

10. Define standard costing. Discuss the objectives of standard

costing,.
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OR
( 3toraT)

11. You are given the following data :

sy Frfafaa whs fad gu ¥ .

Period Sales Profit
Rs. Rs.

| 1,00,000 8,000 -

11 1,20,000 12,000

Calculate :

(i) PVR

(i) BEP

(iif) Sales to earn a profit of Rs. 20,000
(iv) Profit at a salesA of Rs. 50,000

M HIA :

() @ A S

(i) wfr=T farg

(iii) 20,000 T. F Y FAA ¥q (THA

(iv) 50,000 %. it foht W @9
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PART - C
(@ve-w)
UNIT - I
(g&TE-1)
12. Write short notes on :

(i) Bin card

(i) Material turnover

(iii) ABC classification

witra feofmt fafay

(i) f@m=

(i) wrR sEd

(i) o & § T
UNIT - II

(g&T3-11)

13. What earning will a workman receive under the following
incentive schemes if he executes a piece of work in 120 hours
as against 150 hours allowed to him. His hourly rate is Rs.

2.50 and he gets a dearness allowance of Rs. 10 per day of

8 hours worked in addition to his wages :
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(a) Halsey premium plan, 50% bonus to workers;
(b) Rowan premium plan; and
(c) Emerson eficiency plan
Frafafea Stomere dremell % orwia w gfvs =1 FaE
waEd, 3K 9% FE @ 150 Wiga gl F WH W 120 HU
H g & ar ¥, su wfa wver w250 ®. ¥ it 3@ swnt
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(9) oA vt A 3R
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UNIT - IIT

(F=E-10)

14. A product passes through three distinct processes to
completion 10,000 units were introduced (valued at Rs. 50,000)

in process X. Following expenses were incurred :
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wF I g ¥R A g v fafim wfwaell | g 1o ®
wfsan X # 10,000 FHEAT (50000 T. HeF i) w0 78 | Fr
=g fd T

Process X Process Y Process Z

Rs. Rs. Rs.
Machine Expenses 5,000 4,000 3,000
Labour 20,000 30,000 25,000
Direct Expenses 11,000 16,400 4,600
Normal wastage 5% 10% 5%
Scrap value per unit 1.00 2.00 2.50
Actual output (Units) 9,000 8,000 7,700

Prepare process accounts showing the cost of output and the
cost per unit at each stage of manufacture along with normal

loss account, abnrmal loss account and abnormal effectives

account.
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UNIT - IV

(FrE-1V )
15. Define activity based costing. What do you mean by activity
cost driver ?
foran s @ Sraieh =t aftnfia F459 | v s

TS HTeTshi Q 3 ST &2
UNIT -V

(3®E-V)
16. You are furnished with the following data. Calculate all
material variances.
okt FreAfafan wve el gu ¥ 1 W g faerig s
Hifsr |
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Standard Actuals
Raw Mat. | Qnt. Rate| Raw Mat. | Qnt. Rate

A 40 kg 4 A 50 kg 5

B 60 kg 5 B T0ke 6
Input 100 kg 120 kg
Standard
loss 20kg
Output 80kg Actual Yield| 90kg
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